
KTB7050
SQUIRCLE
PICNIC
TABLE

KTB7060
SQUIRCLE
WHEELCHAIR
ACCESIBLE
PICNIC
TABLE

KTB7030  REV. 3  11/25/24
KTB7040
KTB7050
KTB7060

KTB7030
SQUARE
PICNIC
TABLE

KTB7040
SQUARE
WHEELCHAIR
ACCESIBLE
PICNIC
TABLE

KTB 7030/7040/7050/7060
PICNIC TABLES



LEFT LEG SECTION
QTY. = 4

RIGHT LEG SECTION
QTY. = 4

GUSSET
QTY. = 4

SEAT SUPPORT
QTY. = 4

SEAT SUBASSEMBLY
(WILL BE ONE OR
THE OTHER)
QTY. = 4

TOP SUBASSEMBLY
(WILL BE ONE OR
THE OTHER)
(BOTTOM VIEW SHOWN)
QTY. = 1

KTB 7030/7040/7050/7060
PICNIC TABLES

COMPONENTS 
REQUIRED FOR 
ASSEMBLY 1/7



CAM
QTY. = 4

#10 X 2-1/2" SCREW
QTY. = 60
[ADA VERSIONS 
QTY. = 52]

#8 X 1-5/8" SCREW
QTY. = 8

SEAT SUPPORT
QTY. = 4

1/4" BUTTON HEAD
MACHINE SCREW
QTY. = 4
[ADA VERSIONS 
QTY. = 3]

1/4" X 2" CARRIAGE BOLT
QTY. = 8

1/4" FLAT WASHER
QTY. = 12

1/4" NUT
QTY. = 8

REQUIRED TOOLS
(NOT INCLUDED)
1 - 7/16" WRENCH or SOCKET
1 - POWER DRILL
1 - RUBBER MALLET
1 - #2 SQUARE DRIVE BIT

NOTE: IT IS IMPORTANT TO KEEP ALL BOLTS FINGER TIGHT 
DURING ASSEMBLY UNTIL ENTIRE TABLE IS ASSEMBLED  

KTB 7030/7040/7050/7060
PICNIC TABLES

COMPONMENTS & 
TOOLS REQUIRED 
FOR ASSEMBLY

2/7



#8 X 1-5/8" - THIS IS THE
SHORTER SCREW

#8 X 1-5/8" - THIS
IS THE SHORTER
SCREW

#10 X 2-1/2"

#10 X 2-1/2"

DETAIL AV
SCALE 1 : 4

COUNTERSINKS
FACE OUTWARD

STEP 1:   BEGIN BY JOINING ONE LEFT LEG 
WITH ONE RIGHT LEG.  INSURE THAT THE TWO 
RADIUSED EDGES LINE UP AND THAT THE
COUNTERBORE OF THE HOLES IS FACING
OUTWARD AS SHOWN IN  DETAIL A.  USE A 
MALLET TO GENTLY POUND THE TWO PIECES
TIGHTLY TOGETHER.  DRIVE IN THE 5 SCREWS 
ALONG THE EDGE TO BRING THE TWO PIECES 
TOGETHER.  THEN, USING A MALLET, POUND 
ON THE BOTTOM GUSSET AS SHOWN AND 
DRIVE IN THE BOTTOM TWO SCREWS INTO THE 
COUNTERBORED HOLES.  THEN, INSTALL THE
(2) SMALLER 1-5/8" SCREWS THROUGH THE 
LEGS INTO THE ENDS OF THE GUSSET.  DO NOT 
MIX UP SCREW SIZES.  REPEAT FOR THE OTHER 
THREE LEG SETS.

KTB 7030/7040/7050/7060
PICNIC TABLES

ASSEMBLE 
LEG SETS 3/7 



INSTALL (2) #10 X 2-1/2" 
SCREWS AT THESE LOCATIONS

MAKE SURE THE 
RECTANGULAR 
CUTOUTS ALL 
FACE INWARD.

STEP 2:   PLACE EACH SET OF LEGS IN ROUGHLY A 
SQUARE PATTERN AS SHOWN.  JOIN ONE LEG SET 
TO THE NEXT ONE BY INSTALLING A SEAT SUPPORT
INTO THE NOTCHES.  THE DOWNWARD FACING 
NOTCH IN THE SUPPORT ENGAGES THE UPWARD
FACING NOTCH IN EACH LEG.  USE A MALLET TO
TAP EACH SUPPORT PIECE FULLY INTO EACH 
NOTCH.  DO THIS TO JOIN ALL 4 SETS OF LEGS.
NEXT, DRIVE (2) #10 X 2-1/2" SCREWS THROUGH 
EACH LEG AND INTO THE SEAT SUPPORTS.

KTB 7030/7040/7050/7060
PICNIC TABLES

CONNECT
LEG SETS 4/7 



STEP 3:  PLACE SEAT ON SMOOTH, FLAT SURFACE 
WITH RECTANGULAR POCKETS FACING UP.
ATTACH (1) CAM INTO THE THREADED INSERT
USING 1/4-20 X 1-1/4" BUTTONHEAD SCREW WITH
1/4" WASHER.  RUN SCREW IN BUT DON'T FULLY
TIGHTEN YET.  REPEAT FOR THE OTHER (3) SEATS.
IF ASSEMBLING A SQUIRCLE TABLE, SEATS WILL
HAVE A CURVE TO THEM.  IF ASSEMBLING A
WHEELCHAIR ACCESIBLE TABLE, THERE WILL ONLY 
BE (3) SEATS TOTAL.  

KTB 7030/7040/7050/7060
PICNIC TABLES

ASSEMBLE 
CAMS TO 
SEATS

5/7 



INSTALL #10 X 2-1/2"
SCREWS AT THESE
LOCATIONS

CAMS
(IF ASSEMBLING A
SQUIRCLE TABLE,
THE SEATS WILL BE
CURVED).

DETAIL AW
SCALE 1 : 4

CAMS LOCK
INTO THESE
CUTOUTS

STEP 4:   TAKE EACH SEAT AND SET IT ONTO THE TABS
PROTRUDING UPWARD FROM THE SEAT SUPPORTS.
INSURE THAT THE CAM ON THE BOTTOM OF EACH 
SEAT FACES INWARD.  ROTATE EACH CAM CLOCKWISE
SO IT LOCKS INTO EACH CUTOUT IN THE SEAT SUPPORTS.
LOOSEN THE BUTTON HEAD SCREWS IF NECESSARY UNTIL
EACH CAM IS FULLY ENGAGED.  TIGHTEN EACH MACHINE
SCREW SECURELY.  THEN INSTALL (4) #10 X 2-1/2" THROUGH
THE TOP OF EACH SEAT INTO THE LEGS.  INSTALL JUST UNTIL
FLUSH, WITHOUT OVERDRIVING THEM.

KTB 7030/7040/7050/7060
PICNIC TABLES

INSTALL SEATS 6/7



CARRIAGE BOLT
1/4" FLAT WASHER

1/4" NUT

STEP 5:   LOWER THE TOP SUBASSEMBLY ONTO THE
LEG SETS AS SHOWN.  THE CORNERS OF EACH LEG
SET SHOULD COME TO REST JUST INSIDE THE OUTER
RIM OF THE TOP.  GENTLY TAP WITH A MALLET IF 
NEEDED.  ONCE IN PLACE, INSTALL ONE 1/4" CARRIAGE
BOLT THROUGH EACH HOLE, SECURING THE TOP TO 
THE LEGS.  INSTALL 1/4" FLAT WASHER AND 1/4" NUT ONTO
EACH CARRIAGE BOLT AND TIGHTEN. 

YOUR SQUARE TABLE IS NOW ASSEMBLED!

KTB 7030/7040/7050/7060
PICNIC TABLES

ATTACH 
TOP 7/7



 47.50 

 39.75 

 77.50 

 8.40 

1.75" DIA.

 77.00 

 47.50 

 9.25 

 39.75 

1.75" DIA.

 5.50 

 26.00 

 39.75  5.75 

 17.375 

 30.75 

NOTE: ALL MATERIAL IS RECYCLED PLASTIC LUMBER UNLESS NOTED

ALL DIMENSIONS ARE SHOWN IN INCHES

KTB70** REV #3
11/25/2024

TOP VIEW
OF SQUIRCLE
TABLE SHOWN

TOP VIEW
OF SQUARE
TABLE SHOWN

KTB 7030/7040/7050/7060
PICNIC TABLES



 30.75 

 17.375 

 5.500 

 5.750 

 62.250 

 77.000 

TOP VIEW 
OF SQUARE
WHEELCHAIR
ACCESIBLE
TABLE SHOWN

 62.500 

 77.500 TOP VIEW 
OF SQUIRCLE
WHEELCHAIR
ACCESIBLE
TABLE SHOWN

KTB 7030/7040/7050/7060
PICNIC TABLES


	COVER
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14

	PG 1
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22

	PG 2
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30

	PG 3
	Drawing View32
	Detail View AV (1 : 4)

	PG 4
	Drawing View34
	Detail View AY (1 : 4)

	PG 5
	Drawing View35

	PG 6
	Drawing View36
	Drawing View37
	Detail View AW (1 : 4)

	PG 7
	Drawing View39

	SPECS 1
	Drawing View40
	Drawing View41
	Drawing View42

	SPECS 2
	Drawing View43
	Drawing View44
	Drawing View45


